Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register		52,		Date Regi	- site bi	lls	17-04-	2013.		
	pany Name:			Site:				BRGU		
	e of Contractor		7GU	6				D 5 6 9		
Natu	re of work	Di l	lip Ranjan re Cutting	n Swa	w					
Worl	k done		m Date				Date	16-0	4-2023	
Sl. No.	Villa/Flat/block no).	Qty.	Rate		Units	Amou	int	Contractors bill no	
1.	flat no									
2.	207,208,209,210,2	11	50.00	300	-00	nos	15,0	00-00		
3.	212, 213, 214, 215, 3		30.00	275		No's	8,2	50.00		
4.			40.00	250.	00	Nos	10,0	00.00		
5.			10.00	350	·60	Nos	3,50	30.00		
6.			20.00	375.	00	Nols	7,5	00.00		
7.								1		
8.										
9.										
10.							1			
11.	Т	otal:					44,2	50:00		
Bill 1	required	₫Y	ES \square NO.		GST	bill requi	red	□ YES -	₹NO.	
	surement & nate sheet:		equired ot required			urement ate sheet:	- 1	Enclosed ☐ Not enclosed		
PO/V	WO no.				PO/W	O date:				
Rem	arks: Work Com	pleti	rd.	L						
	,									
Appı	roved by Project Ma	nage	r Appro	Approved by Design Team			App	Approved by M.D.		
Date	: 17,-04-	-25	Date:				Date			
Sign	MI MAN		Sign:				Sign			
Notes	T. This advac A Photo	nt wit	un 7 daye of for	anlatina	work 2	This c	_			

Notes: T. This alty compression with played completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

SYED GOLAM SARWAR Asst. Project Manager/BRGV

Labour Charges Dilip RanJan Swain MUHARPALLY Hyderabad

Date 17-04-2023

ln	fa	vor	of	:

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

Core Cutting work

Towards:

Labour Charges

S.No.		Discription	Amount
1	Breif discription of work		
			17,700.00
	Total amount:	44,250.00	

Amount in Word: Seventeen thousands seven hundred rupees only/-

Allowance For Equipment Dilip RanJan Swain

MUHARPALLY Hyderabad

Date 17-04-2023

In	favor	of	:	
----	-------	----	---	--

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

Core Cutting work

Towards:

Allowance For Equipment

C No.		Discription	Amount
S.No.	Breif discription of work	done: Towards CORE CUTTING WORK	<
1	breit discription		17,700.00
	Total amount:	44,250.00	

Amount in Word: Seventeen thousands seven hundred rupees only/-

Sign:
And the state of t

ESTIMATE SHEET		· · · · · · · · · · · · · · · · · · ·					
Company Name:	MRGV				Approved by	,	
Project:	BRGV						
Work Description :	Core Cutting work						
Prepared By:	Sarwar						
Contractor Name:	Dilip RanJan Swain						
Date:	17-04-2023						
S NO.	Item Head	Item Description	Quantity	Units	Rate	Amount	Grand Total
. 1 .	FLAT NO -				The same		
	207.208.209.210.211.212.213.	5" dia hole for 4" slab	50.00	No's	300.00	15,000.00	
	215.216	4" dia hole for 4" slab	30.00	No's	275.00	8,250.00	
		3" dia hole for 4" slab	40.00	No's	250.00	10,000.00	
	,	4" dia hole for 9" beam	10.00	No's	350.00	3,500.00	
		5" dia hole for 9" beam	20.00	No's	375.00	7,500.00	
					Total	44,250.00	

a agrav

MEASUREMENT S	HEET								
Company Name:	MRGV						Approved by		,
Project:	BRGV								
Work Description:	Core Cutting work								
Prepared By:	Sarwar						1		
Contractor Name:	Dilip RanJan Swain								
Date:	17-04-2023							F	G=Sum of E
			Α	В	C	D	E=AXBXCXD	· · · · · · · · · · · · · · · · · · ·	
S.No	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Total Head
1	FLAT NO -								50.00
	207.208.209.210.211.212.213.214	5" dia hole for 4" slab	10.00	1.00	1.00	5.00	50.00	No's	50.00
	215.216	4" dia hole for 4" slab	10.00	1.00	1.00	3.00	30.00	No's	30.00
	210.210	3" dia hole for 4" slab	10.00	1.00	1.00	4.00	40.00	No's	40.00
	-			1.00	1.00	1.00	10.00	No's	10.00
		4" dia hole for 9" beam	10.00	1.00	1.00	1.00	10.00		20.00